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Six persons P, Q, R, S, T and U are comparing their weights and each of them is
having a different weight. R’s weight is less than only Q’s weight. S is heavier
than only two persons. T is the only person heavier than U and lighter than S.
The third heaviest weight is 90kgs and the fifth heaviest weight is 50kgs.

O AFd P,Q,R,S, TR UF Tt T Jelell &R 1‘%%34‘113?!7#@
UcAF T Folel TSIl 3T &| RFT Il I © & Tofed ¥ HH
hdel o cATFAAl T doled ST A g1 T,Hdel Teh &I cIfed g S UH
AT AR SH Foohl gl drY W HRT <IfFd &1 dofel 90 g 3R g
Y eafFd & I 50 gl
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Q. 10 If the heaviest person weight is 40kgs more than P’s weight, then what is the possible

weight of R? / @l a8 A JoleT dToll SITFd & P Joled & Tk 40 heirems
TSR & 4T RSP THIT Jold &7

(1) 90 (2) 130 (3) 150 (4) 85 (5) 120
Q. 11 What is the possible weight of S? / S ST THTAT doled FAT &7

(1) 100 (2) 40 (3) 49 (4) 75 (5) 92
Q. 12 Who is the third heaviest? / O TaH AN cTTFT Hied g?

(1) Q (2) P (3)T (4) U (5)S
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Ten person namely-B,D, G, H,K,L, P,R,Sand T sitsin a a?rwﬁ-?raa‘l?r B,D,G,H,K,L, PR, S 3 Tcfayor
row facing south. Age of each person is different 1 AR 7 TS Wqﬁ‘?ﬁ%%' W_‘Iﬁ‘?r*fm
viz. 16, 21, 24, 28, 29, 31, 36, 39, 49 and 52 years. All the el gell &

inf?rmation are .not necessary in sam.e orfier. Tt Ea'%:l’a:r%r é;’%;r';:; %13%:;% 55?:1'@
S sits fourth to right of H, whose age is prime number. & =iieY werreT a3 dar Y, TrERY 3T HHTST SEaT ¥ H
Difference between age of H and P is 13 years. One person kP @rma;aﬁqq;rm 13 . %a-qﬂ 21 a-&a?rm
sits between the one whose age is 21 years and S. Age of Sis | | 3ikx s ﬂ?iﬁﬂ@“ﬁﬁ-‘dm%l S aﬁrsﬂ'zru'a;qvi'a??

not a perfect square. The one whose age is 21 years sits T EI NS DR T 21 a¥ E aE L FEd @

fourth to right of L, whose age is neither 36 years nor sits at || TIHT W 3T R, ﬁr\qﬁmaaﬂ 36y g A
end of the row. Two person sits between L and the one ufFd & sra A doT 8 L3152 a'n'ra?rsmrmﬁwﬁ?r
whose age is 52 years, who neither sits adjacent to S nor H T cafea 33, AT A s & e 3¢ sk

adjacent to the one whose age is 28 years. P sits second to &Y Ao forehl 3T 28 a9 E1 P, B *W@W
j g y TYTeT 9T FaT %m%rmzsat‘r%ﬁ:a"ﬁrms

right of B, whose age is 28 years. Difference between the

age of S and D is 15 years. S is elder than D Neither H nor S %:ﬁ%ﬁ?&sa%%az%;g;%a >
sits at end of the row. Two person sits between the one 39 as kR mm 169 983
whose age is 39 years and R. The one whose age is 16 years —uﬁ“crﬂ?'@la?awﬂa%mw 24 HTA gl PaT @AY
sits immediate left of the one whose age is 24 years. P H& AT dorg IR TN IRFaF sraFd dorgl i

neither sits adjacent to H nor sits at end of the row. Three FfFd o . F AT A S T Fwehr amg 28 af g 3fw K,
person sits between the one whose age is 28 years and K, ﬁw:ﬂm‘a?ﬁ 3199 g AR AES *Wﬂa%l

whose age is neither 31 years nor sits adjacent to S.
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Ten person namely-B, D, G, H, K, L, P, R, S and T sits in a row facing
south. Age of each person is different viz. 16, 21, 24, 28, 29, 31, 36, 39,
49 and 52 years. All the information are not necessary in same order.

S sits fourth to right of H, whose age is prime number.
Difference between age of H and P is 13 years. One
person sits between the one whose age is 21 years and
S. Age of S is not a perfect square. The one whose age is
21 years sits fourth to right of L, whose age is neither 36
years nor sits at end of the row. Two person sits between
L and the one whose age is 52 years, who neither sits
adjacent to S nor adjacent to the one whose age is 28
years. P sits second to right of B, whose age is 28 years.
Difference between the age of S and D is 15 years. S is
elder than D Neither H nor S sits at end of the row. Two
person sits between the one whose age is 39 years and
R. The one whose age is 16 years sits immediate left of
the one whose age is 24 years. P neither sits adjacent to
H nor sits at end of the row. Three person sits between
the one whose age is 28 years and K, whose age is
neither 31 years nor sits adjacent to S.
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Which of the following statement(s) is/are sufficient to answer the age of L?

Statement |: The one whose age is 36 years sits adjacent to the one whose age is 49 years.
Statement Il: One person sits between the one whose age is 31 years and T.

Statement lll: The one whose age is 31 years sits adjacent to L.

@ d & @ i GU/F FU9 LA 3T &7 3R/ T & v qaca 22
FY |: Frahr 3y 36 af ¥ a7 49 a¥ A Iy AT AR F 3FeA da7 ¥
YT II: 31aﬁa?rma1ﬁ—aﬁ?r3ﬁTTa?aﬁirw—4ﬁ?r§3r%l
Wlllmﬁmmaﬁ%a@wﬂ;mﬁa%l

a) Only (1) b) Only (11) and (lI1) c) Only (lll) d) Either Only (I) or only (lll) €) Only (1) and (ll)

T T T A A

24 16 39 28 21
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If P, K and H initially left their position and then joins along with G and T to fill the five vacant position
considering none of the condition in the passage violates, then which of the following statement (S) is/are
sufficient to find who sits immediate right of G?

Statement I: The one whose age is 16 years sits third place right of T. The one whose age is 31 years sits

adjacent to T.
Statement Il: One person sits between G and the one whose age is 49 years. T sits third to right of the one

whose age is 31.
Statement lll: T sits at a gap of two person from the one whose age is 21 years. K doesn’t sit at end of the

row.

HYA I: TATT 16 TH 8 96 T 4 Y TATT UL o1 8| [STHehT AT 3199 8 98 T & AHeel ol gl
FY II: Gsﬁugat'ra?rmaﬁ—qﬁ-?ravaﬁirw—qﬁ?raa%lTwwﬁ-?ra;m#mwmwﬂa%
o Mg 31 a¥ 3

FATI: T, z1aﬁaﬁrma1ﬁ—qﬁ?r#a1—qﬁ-?ma;mwé3r%l K 9fFd & Id A g1 dor gl

a) Only (I) b) Only (I1) and () c) Only (ll) d) Only (1) and (Ill) e) None of the above

D P = B R H K L



http://www.mahendras.org/

/ Watendrna’s / / FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE: E14727 /

Which of the following statement (s) is/are sufficient to find who sits second to right of the
one whose age is 36 years?

Statement I: Three person sits between the one whose age is 49 years and T.

Statement ll: One person sits between G and the one whose age is 49 years.

Statement lll: R and G sits together. T and the one whose age is 31 years sits together.

FUA 1: 49 ¥ Y MY I FfFT 3R TH T i =afFa 48 &

FY 11: G AR 49 af A Iy T AfFT F T v I a7 ¥

;errrm R3T G uw Ty ¥ F TR a7 =afFa fowedr 3mg 31 af 3, v w1y &
|

a) Only (l1) b) Either (1) alone or (ll) alone c) Only (lll) d) Only (1) and (lll) e) None of the above
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